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Step 1: Identify the loss 

A loss amount of $500 is identified at the joining time. In working out its core 
purposes – as required by Division 701 – the joining entity determines that it 
has in fact incurred a loss for the period 1 July 2002 to 27 November 2002 in 
the joining year.  

The joining entity has a loss as at the joining time. 

Step 2: Income year 

As the loss is incurred for the 2003 income year (albeit calculated in reference 
to the non-membership period), the end of the income year (30 June 2003) 
does not predate the joining time of 28 November 2002. Thus, the joining 
entity’s loss does not satisfy the requirement in paragraph 707-115(1)(b) that it 
be a loss in respect of an income year that ends before the joining time. 

Accordingly, it is not subject to Subdivision 707-A unless a modified rule is 
applied. 

As a loss has been identified in respect of part of an income year, subsection 
701-30(8) must be relied on. It provides that a non-membership period loss 
made by an entity is, for the purpose of Division 707, taken to be a loss made 
by the entity for an income year that matches the length of the non-
membership period. The result is to, in effect, shorten the income year to the 
period 1 July 2002 to 27 November 2002. The loss is now considered to be a 
tax loss in respect of an income year that ends before the joining time. 

Step 3: Establish the unutilised amount of the loss as at the joining time 

Paragraph 707-110(2)(a) states how a tax loss is ‘utilised’.  

As the tax loss is the net result of calculating its taxable income for the 2003 
income year, the joining entity has the full $500 of the loss on hand as at the 
joining time. 

Thus, the full $500 tax loss of the joining entity made in the 2003 income year 
is subject to the transfer testing process. 

Step 4: Apply the ownership and control transfer tests 

Sections 165-12 and 165-15 require the company to test for same owners and 
same control respectively throughout the ownership test period: from the start 
of the loss year to the end of the income year. In this case:  
• the loss year is 1 July 2002 to 27 November 2002, and 
• the income year is represented by the trial year 28 November 2001 to just 

after 28 November 2002. 

Calculation 




